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QUESTION 1

Which digit manipulation command works under a VoIP dial peer? 

A. forward-digits 

B. translation-profile 

C. digit-strip 

D. prefix 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 

While configuring dial plan on a system, an engineer notices the route list in the pictured state. 

What will cause this? 

A. One subscriber server in CUCM Group is down. 

B. Media Resource on the CUCM are oversubscribed. 

C. "Run on all active unified CM nodes" is not checked on the route list. 



D. "No route group" is added in this Route List. 

Correct Answer: A 

 

QUESTION 3

Which two items have a calling search space? (Choose two.) 

A. transcoder 

B. gateways 

C. phones 

D. partitions 

E. AAR groups 

Correct Answer: BC 

 

QUESTION 4

Which three of these are characteristics of a Cisco Unified Communications Manager software- based Media
Termination Point? (Choose three.) 

A. The codec and packetization of both call legs must be identical. 

B. This Media Termination Point type does not require any DSP resources on the Cisco router. 

C. DSP resources are required. 

D. It can provide G.711 mu-law to G.711 a-law conversion and vice versa. 

E. It can provide packetization conversion for a given codec (for example, if one call leg is using a 20-ms sample size,
but the other call leg is using a 30-ms sample size). 

F. This Media Termination Point type is typically used for RSVP agent configurations or Cisco Unified Border Element
media flow-through configurations. 

Correct Answer: BDE 

 

QUESTION 5

Which three items have a calling search space? (Choose three.) 

A. transcoder 

B. gateways 

C. phone lines 



D. phones 

E. partitions 

F. AAR groups 

Correct Answer: BCD 

 

QUESTION 6

What are two characteristics that are associated with the End User and User account types? (Choose two.) 

A. They cannot use LDAP. 

B. They are used to authorize applications. 

C. They can utilize LDAP. 

D. The Application is associated with the End User and User account types. 

E. They can be listed in a directory. 

Correct Answer: CD 

 

QUESTION 7

Which two tasks should be performed before you delete a phone button template that is currently in use? (Choose two.) 

A. Check the "ALLOW WITH CONFIRMATION" checkbox in the setting "Delete Button Template in use" under System
Parameters, and save the setting. 

B. Assign a different phone button template to any devices that use the phone button template that you want to delete. 

C. Rename the button template as "OUT OF SERVICE" to dissociate it from any devices that use the phone button
template that you want to delete. 

D. Delete the devices that use the phone button template that you want to delete. 

Correct Answer: BD 

 

QUESTION 8

Which Cisco Unified Communications Manager menu path is used to access the softkey template configuration
window? 

A. Device > Device Settings > Softkey Templates 

B. Device Settings > Softkey Templates 

C. IP Phone > Template > Softkey 



D. Device > IP Phone > Template > Softkey 

Correct Answer: A 

 

QUESTION 9

Which four call coverage features are used by voice gateways? (Choose four.) 

A. call hunt 

B. Call Park 

C. Call Pickup 

D. call redirecting 

E. overlaid phone-dn 

F. basic automatic call distribution 

G. overlaid ephone-dn 

H. basic manual call distribution 

Correct Answer: ACFG 

 

QUESTION 10

Which two of the following DSPs can be used in heterogenous conferencing to achieve the required trans-sizing and
transcoding functionality? (Choose two.) 

A. PVDM3-256 

B. PVDM2-256 

C. PVDM-192 

D. PVDM3-32 

E. PVDM3-192 

F. PVDM2-128 

Correct Answer: AE 

 

QUESTION 11

Which two steps are needed to enable time-of-day call routing? (Choose two.) 

A. Configure an access list. 



B. Configure a time period. 

C. Configure a route pattern. 

D. Configure a partition. 

E. Configure dial rules. 

Correct Answer: BD 

 

QUESTION 12

Which wildcard character in a route pattern can be used to match to one or more digits in the range 0 through 9? 

A. + 

B. X 

C. ! 

D. ? 

Correct Answer: C 
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